
ENGINEERING

JAMES

FIXING
ACCESSORIES

G0300 - Swivel coupler.
G0301 - 900 fixed coupler.
G0302 - Half coupler magic bolt style.
G0302A -  Half coupler with tapered hole
G0400 - Mild steel T.V. spud with M10 bolt.
G0401 - Half coupler with mild steel T.V. spud bolted.
G0405 - Half coupler with aluminum T.V. spud welded.
G0406 - Half coupler with T.V. socket.
G0404 - Half coupler with magic bolt set.
G0410 -    Magic screw spacer assembly.
G0411 - M12 x 30 magic bolt with locknut.
G0412 - M12 x 50 magic bolt with locknut.
G0413 - M12 x 80 magic bolt with locknut.
G0303 - Shank hook to fit 2" tube.
B5301 - Snap brace. Specify center dimensions.
G0903 - Roll pin 2" x 1/4" dia for Shank hook.
Spanset-3’ EN60 -   span set 3’ pull to pull 2 ton certified.
Spanset-6’ EN60 -   span set 6’ pull to pull 2 ton certified.
Spanset SF3  - Steelflex 3’ pull to pull 2 ton certified.
Spanset SF6  - Steelflex 6’ pull to pull 2 ton certified.
Shackle 5/8”G -  galvinized shackle 5/8" x 2 ton.
B0605 -  Tank trap to accept 2" tube.
G0804 -  Camloc 34R01-2-1BA receptacle.
G0802 -  Camloc 34R01-2-1AA stud.
G0803 -  Camloc 34R01-3-1AA stud.
G0806 -  Camloc 34R02-1-1AA stud.
G0809C     - 5/8” chassis mounted nut w/2” bolt, fastners 
G0809A+   - 5/8 chassis mounted nut with fastners  
G0811B -  5/8” bolt set; 2” long bolt, nut, 2 clipped washers
G0812 -    supertruss pin and R-clip
G0812A -  4” stainless supertruss pin and R-clip
G0814 -    Supertruss bolt set 
G5576 -    Superlite pin and R-clip
G0813 -    Superlite M 12 bolt set
G0900 -    Swivel Castor 4”
G0902 -    Castor Nuts, bolts, washers (per 4)
G0710 -    spare guide rod and R-clip

G0405 G0406

G0302

G0401

G0301

G0300

G1



ENGINEERING

JAMES

FIXING
ACCESSORIES

G0802/03G0802/03

G0811B

Shackle 5/8”G

G0411/12/13 G0303

G0400
G0410

B5301 

B0605 

Spanset-X’ EN 60 or EN30 

G0804

G0810

G1A




